Year 9 Autumn 1 Rolling Recall Start

Information

Name You have 10 minutes to complete this recall task.
No calculators allowed.

Score /10 Show all your working out in the space provided.

To be completed after marking the rolling recall

Question numbers | need to complete more work on:

1 |f x = 9 what is the value of x + 2?
Mark
|Sparx maths task: M417
2 Share £50 in the ratio 1: 4
Mark
Sparx maths task: M525

m Archway
Learning Trust



311 1
2737
Mark
|Sparx maths task: M157
41324 + 6 =
Mark
|Sparx maths task: M958
5 Kimplify x* x x3
Mark
Sparx maths task: M608

AR

Archway

Learning Trust




6 [Expand 9(x + 3)
Mark
|Sparx maths task: M237
7 k<3
What value could x be?
Mark
|Sparx maths task: M118
8 Kolve 4x + 7 = 23
Mark

AR

Archway

Learning Trust

Sparx maths task:




What is the nth term of the sequence
3,5,7,9...7

Mark
|Sparx maths task: M991
19115% of £600 =
Mark
|Sparx maths task: M437




Year 9 Autumn 1 Rolling Recall Middle

Information

Name You have 10 minutes to complete this recall task.
No calculators allowed.

Score /10 Show all your working out in the space provided.

To be completed after marking the rolling recall

Question numbers | need to complete more work on:

1 lIf x = 3.5 whatis the value of x + 77
Mark
|Sparx maths task: M417
2 Share £60 in the ratio 2: 3
Mark
Sparx maths task: M525

m Archway
Learning Trust



312 1
3737
Mark
|Sparx maths task: M157
41452 + 4 =
Mark
|Sparx maths task: M958
5 Bimplify x° + x3
Mark
Sparx maths task: M608

AR

Archway

Learning Trust




6 [Expand 2(x — 3)
Mark
|Sparx maths task: M237
7 =41
What value could x be?
Mark
|Sparx maths task: M118
8 Solve 2x — 7 = 23
Mark
Sparx maths task:

m Archway
Learning Trust



MWhat is the nth term of the sequence
3,9,15,21...7

Mark
|Sparx maths task: M991
10 [12% of £800 =
Mark
|Sparx maths task: M437




Year 9 Autumn 1 Rolling Recall End

Information

Name You have 10 minutes to complete this recall task.
No calculators allowed.

Score /10 Show all your working out in the space provided.

To be completed after marking the rolling recall

Question numbers | need to complete more work on:

1 |f x = 3.5 what is the value of 2x?
Mark
|Sparx maths task: M417
2 Share £70 in the ratio 3: 2
Mark
Sparx maths task: M525

m Archway
Learning Trust



Mark
|Sparx maths task: M157
41135 +3 =
Mark
|Sparx maths task: M958
T 5 3
5 |Slmpln‘y 2X° X X
Mark
Show
your
method
Sparx maths task: M608

m Archway
Learning Trust




6 Expand 4(2 + y)
Mark
Show
your
method
|Sparx maths task: M237
7 k+1=5
What value could x be?
Mark
Show
your
method
|Sparx maths task: M118
8 Bolve3x — 7 = 23
Mark

m Archway
Learning Trust

Sparx maths task:




9 What is the nth term of the sequence
10,12,14,16...7

Show

your Mark
method

|Sparx maths task: M991
10 [22% of £500 =
Show Mark
your
method
|Sparx maths task: M437




